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Year 4 - Friday 12™ June

Maths

Please do your usual
key skills from below.
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Golden Time - opt

ional

Treat yourself for all your hard
work this week.
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Ivaaﬂ-.s Key Skills

MName:

Date:

Class/Group:

Stage 4: Skill Check &

A: Place Value, Add and Subtract

B: Multiply, Divide and Fractions

C: Measure and Geometry

1. What is the missing number? o 11 66 = 6= - 21. There are 550 millilitres of liquid o
s 37 3% i in a jug. How much more liguid needs
af:f .00
2. What is the missing number? 12. Two factors of 32 add up to 33. to be added to make 1 litre?
a9 [ ] 63 70 77 What are they?
3. What is 1,000 more than 2,3507 . 13. 314x7= o 22. What is the perimeter of this -
rectangle?
rE) a1z
4. Round this number to the nearest 14. In a class of 18 there are 2 girls for 1cm §
10: 3,275 every 1 boy. How many are boys?
4:3 £:13 427
5. Whatis 2 =97 1s5. 7 _35 | 235. At lunch, Kirsty has a starter and a
3 15 main meal. She pays with a £20 note.
= FET How much change does she get?
6. What is the value of the 3 in this 16. What is the missing number?
All Start 455 || All Mains £5.50
number? 3,206 200 201 202 203 a1t Starters £4.95 J (Al Mains £9.50 |
-5 418 432
7. Write the number 67 in Roman 17. 2 + k2 24. How would 6:15pm be shown on
numerals. 14 14 2 24 hour digital clock?
4% &£ N
8. 3912+1,129= 18. Write 0.25 as a fraction. [ - ]
4:F £17 i 4: 73
9. Write the sum to check 492 + 210 = 19. 45 + 10 = 25. What iz the special
7022 702- [ = name for this type
£:3 418 =
10. | have £2. | spend £1.15 then 65p. 20. Round 5.6 to the nearest whole gf triangh?
How much do | have left? number.
Total (A) Total (B) Total (C)
Test Total (A+B+C) R (0-9) | ¥ (10-19) I G (20-25)
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Maths Key Skills

Stage 4: Skill Check 6 Answers

Name: Date: Class/Group:
A: Place Value, Add and Subtract B: Multiply, Divide and Fractions C: Measure and Geometry
[ 48 4:18
1. What is the missing number? 11, 66 + 6= 21, There are 650 millilitres of liquid
18 27 36 >4 s 11 in a jug. How much more liquid needs
41 4:10 350ml
2. What is the missing number? 12. Two factors of 32 add up to 33. to be added to make 1 litre?
as [ ] 63 70 77 56 | what are they? 1,32
) 42 4:11 4:20
3. What is 1,000 more than 2,350? 13. 314x7 = 22. What is the perimeter of this
3,350 2,198 rectangle?
42 442 | 14cm
4, Round this number to the nearest 14, In a class of 18 there are 2 girls for 1em$
: 3,280 ? 6
10: 3,275 ’ every 1 boy. How many are boys?
4:3 5 4:13 4:21
5. What is 2-97 15. 2 _ 3 | 23. At lunch, Kirsty has a starter and a
-7 3 5 1 main meal. She pays with a £20 note.
= e How much change does she get? £5.15
6. What is the value of the 3 in this 16. uﬁhft is the missing number? .
number? 3,296 3000 | 200 201 202 2.03 1.99 [AII Starters £4,95 ] [AII Mains E.Q,QCI}
45 5 8 4:1% 4:22
7. Write the number 67 in Roman 17. = = 13 24, How would 6:15pm be shown on
numerals. LXvii 14 14 1a | @24 hour digital clock?
45 416 18:15
a. 3912 +1,129= 18. Write 0.25 as a fraction. 1 .
5,041 —_— )
.|
47 4:17 ] ] 423
9. Write the sum to check 492 + 210 = 19. 45 + 10 = 25. What is the special
492, 210
702: 702 - E’ = w_A 4.5 name for this type il
“ e of triangle? E.El',:'..L‘
10. I have £2. | spend £1.15 then 65p. 20. Round 5.6 to the nearest whole QLtriangle: ateral
How much do | have left? 20p | number. 6
Total (A) Total (B) Total (C)
R (0-9) J Y (10-19) I

Test Total (A+B+C)

G (20-25)
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Maths Key Skills

Name:

Date:

Stage 3: Skill Check 6

Class/Group:

A: Place Value, Add and Subtract

B: Multiply, Divide and Fractions

C: Measure and Problem Solving

3:1 340 3-i9
1. What is the missing number? 11. 28+4= 23. Alfie is 1m 12cm tall.
0 4 8 16 Zacis 91cm tall.
32 3:10
2. What is the & worth in this number? 12, Bx6= How much taller is Alfie than Zac?
36l
33 3:11 320
3. Write this number in numerals. 13. Use 9 x 6 = 54 to solve: 22. What is the perimeter of this
four hundred and sixty two 9x12= rectangle?
2 - — 3 Ecm
34 ) 3:12
4. 'u;".fh?T n|um|ber| ic Ilabﬁ-_'-lled? | | 14, What |5;he m|55|_ni|:r]1ur2nzl:uer.
0 20 40 «[]=s0- 9cm
35 3:13 321
5. Make the largest number possible 15. What is the missing number? 23. Cans of pop are 5
using the digits 6 4 8. 0.7 0.8 05 1.0 60p each.
= — —— - | have £2.
35 4 ===
o. 603 - 10 = 16. Circle E 5 7 Ir: : \is.- : ? ﬁT How many cans of
of the marbles. SASIS A=) pop,can | buy?
37 1 F15 322
7. 723-312= 17. What is y of 127 24, Draw the hands Pt
to show 1o 2
Er 315 1_- - 8 * 3
8. Circle the best estimate to 48 + 89: | 18, 1_ 2 N t“;get”:if I:f minutes g Y
110 120 130 140 3 6 | Razs ElEnt ~T e 2
39 3:17 3:24
9. One orange costs twenty pence. 15. Addthe 2 N 3 25. How many minutes are equal to
How much will five oranges cost? fractions. 9 9 180 seconds?
39 3:18
10. What is the missing number? 20. Write the 1 1 1 1
-23=9 smallest fraction. 5 6 4 2
Total (A) Total (B) Total (C)
Test Total (A+B+C) R (0-9) | Y (10-19) | G (20-25)
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Maths Key Skills

Mame:

Date:

Class/Group:

Stage 3: 3kill Check & Answers

A: Place Value, Add and Subtract B: Multiply, Divide and Fractions C: Measure and Problem Solving
3:4 F:40 F-ig
1. What is the missing number? 11 28+4-= 23, Alfie is 1m 12cm tall.
: 12 7
0 4 8 16 Zac is 91cm tall. 21
32 3:10 cm
2. What is the 6 worth in this number? 60 12, Bx6= How much taller is Alfie than Zac?
361 48
(tens)
33 3:11 320
3. Write this number in numerals. 13. Use 9 x & = 54 to solve: 22, What is the perimeter of this
four hundred and sixty two 462 9x12= 108 rectangle?
N 30cm
) 3 14, What is the missing number? 31z bcm
4, What number is labelled? P I:I _e0-72
:II T T 1 ZID T - 4|:- 28 X =50 - 7 3cm
35 3:13 321
5. Make the largest number possible 15. What is the missing number? 23. Cans of pop are
using the digits & 4 8. 864 0.7 0.8 03 10 1.1 | 60p each.
- - | have £2. 3
36 4 = '““\ = [ 324
6. 603 -10= 16. Circle o 6 € | =] “‘* How many cans of
593 of the marbles. \H__F,J“ 1=10) 4 pop can | buy?
37 1 315 . 322
7. 723-312= 17. What is Y of 127 24. Draw the hands / 7112
411 3 to show /10 2\ | H
| \ ands
38 3:18 twenty five minutes | . <\ °/ | drawn
8. Circle the best estimate to 48 + 85: 1.1 _ % | ast E?' ht B W 4/
110 120 130 (140) 140 306 [ [T T T 11| 2 |RessET N e 2
39 3:17 324
9. One orange costs twenty pence. £1 19. Add the 2 ' 3 7 23. How many minutes are equal to
How much will five oranges cost? (100p) fractions. e e 9 180 seconds?
3
39 3:18
10. What is the missing number? 20. Write the 1 1 1 1 1
-23=9 32 smallest fraction. 5 6 4 2 6
Total (A) Total (B) Total (C)
Test Total (A+B+C) R (0-9) | Y (10-19) | G (20-25)
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